Transfers Report

This report contains the transfers results.

Contest Name	East Sutherland and Edderton
Valid Votes	3,214
Positions to be Filled	3
Quota	804

Stage 1

Candidate Name	Affiliation		No. of Ballot Papers
Max BANNERMAN	Scottish Conservative and Unionist		546
Harry CHRISTIAN	Scottish Libertarian Party		53
Richard GALE	Scottish Liberal Democrats		1,151
Jim MCGILLIVRAY	Independent		611
Leslie-anne NIVEN	Scottish National Party (SNP)		853
		Total	3,214

Candidate Richard GALE Elected with 1,151 votes, being in excess of the quota of 804 Candidate Leslie-anne NIVEN Elected with 853 votes, being in excess of the quota of 804

Transfers Report

This report contains the transfers results.

347.00000

Stage 2 - Surplus of Richard GALE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Max BANNERMAN	225	0.30147	67.83075
Transfer to Harry CHRISTIAN	91	0.30147	27.43377
Transfer to Jim MCGILLIVRAY	546	0.30147	164.60262
No further preference	289	0.30147	87.12483
Not transferred due to rounding			0.00803
	Total		347.00000

Transfers Report

This report contains the transfers results.

49.00000

Stage 3 - Surplus of Leslie-anne NIVEN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Max BANNERMAN	27	0.05744	1.55088
Transfer to Harry CHRISTIAN	72	0.05744	4.13568
Transfer to Jim MCGILLIVRAY	365	0.05744	20.96560
No further preference	389	0.05744	22.34416
Not transferred due to rounding			0.00368
	Total		49.00000

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Harry CHRISTIAN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Max BANNERMAN	12	1.00000	12.00000
Transfer to Jim MCGILLIVRAY	22	1.00000	22.00000
Transfer to Max BANNERMAN	24	0.30147	7.23528
Transfer to Jim MCGILLIVRAY	45	0.30147	13.56615
Transfer to Max BANNERMAN	8	0.05744	0.45952
Transfer to Jim MCGILLIVRAY	34	0.05744	1.95296
No further preference	19	1.00000	19.00000
No further preference	22	0.30147	6.63234
No further preference	30	0.05744	1.72320
Not transferred due to rounding			0.00000
	Total		84.56945